CONT. ALUM. RECESSED
PAN (J5C011)

CONT. ALUM. RECESSED
FRAME (J5A001)

1/8" [3mm] WIDE SEALANT
(BY OTHERS)

HIGH STRENGTH EPOXY GROUT
PAN INFILL (BY OTHERS)

CONT. ALUM. HINGE FRAME
(J5A021)

GROUT INFILL (BY OTHERS) [240mm] ( )
1 916" CONT. ALUM. FRAME
| [40mm] (J5A020)
.
2" A OPTIONAL HEX HEAD
[50mm] | S CONCRETE SCREW
1316" |
[21mm]
_ Vo
1/4" x 2 1/4" [M6x1 x 56] HEX — \
HEAD CONCRETE 112" 1/4-20 x 1" FLAT HEAD SCREW
SCREWS (7 PER FRAME @ [38mm] (JK162) & WASHER (JK163) &
18" [457mm] O.C.) (JKOO1) o 3/" LOCK NUT (JK164) (7 PER PLATE
2" @ 18" [457mm] O.C.)
SPACER PLATE (J5A012) -~ [238mm] S
MIN. BLOCKOUT
3/16" x 2 1/4" [M4.5x.75 x 56]
FLAT HEAD CONCRETE
SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK002) 502-A01-050
MOVEMENT =
JOINT WIDTH
HORIZONTAL | VERTICAL
US | mm | US | mm | US | mm
2" 51 1" 25 1" 25
FINISH: MILL
PROJECT: DATE: 2-13-12
APPLICATION-

CUSTOMER:

LOCATION:

POP-UP SYSTEM
FLOOR/FLOOR, FLOOR/WALL CONDITION

SCALE:

1:4

DOC: CADJM.133/R4

iInpro.

For More Information Visit: Inprocorp.com




CONT. ALUM. RECESSED
PAN (J5C011)

CONT. ALUM. RECESSED
FRAME (J5A001)

HIGH STRENGTH EPOXY
GROUT INFILL (BY OTHERS)

97/16"

[240m

m]

1 9/16"
‘ [ [40mm]
on
[50mm]

1/4" x 2 1/4" [M6x1 X 56]

HEX HEAD CONCRETE
SCREWS (7 PER FRAME @
18" [457mm] O.C.) (JK001)

7 3/8"
m— [188mm]

SPACER PLATE (J5A012)

NN

3/16" x 2 1/4" [M4.5x.75 x 56]
FLAT HEAD CONCRETE

JEE——

4II

MIN. BLOCKOUT

= [101mm]

™~

[139mm]

HIGH STRENGTH EPOXY GROUT
PAN INFILL (BY OTHERS)

CONT. ALUM. HINGE FRAME
(J5A021)

BACKER ROD & SEALANT
(BY OTHERS)

CONT. ALUM. FRAME
(J5A020)

OPTIONAL HEX HEAD
CONCRETE SCREW

\ 1/4-20 x 1" FLAT HEAD SCREW
(JK162) & WASHER (JK163) &
LOCK NUT (JK164) (7 PER PLATE
@ 18" [457mm] O.C.)

SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK002) 502-A01-100
MOVEMENT %
JOINT WIDTH HORIZONTAL [ VERTICAL
Us mm us mm us mm
4" 102 2" 51 2" 51
PROJECT: APPLICATION DATE: 2-13-12
CUSTOMER: POP-UP SYSTEM SCALE: 1:4

LOCATION:

FLOOR/FLOOR, FLOOR/WALL CONDITION

DOC: CADJM.133/R4

iInpro.

For More Information Visit: Inprocorp.com




CONT. ALUM. RECESSED
PAN (J5C012-F)

CONT. ALUM. RECESSED
FRAME (J5A001)

HIGH STRENGTH EPOXY

HIGH STRENGTH EPOXY
GROUT PAN INFILL (BY
OTHERS)

CONT. ALUM. HINGE
FRAME (J5A021)

BACKER ROD &

GROUT INFILL (BY OTHERS) 1[2 21 ggg] SEALANT (BY OTHERS)
19/16" CONT. ALUM. FRAME
| [40mm] (J5A020)
2 SN L A OPTIONAL HEX HEAD
[50mm] — e RN CONCRETE SCREW
f F = J —
/ [139mm]
1/4" x 2 1/4" [M6x1 x 56] HEX —// ﬁ N ‘
HEAD CONCRETE \ )
SCREWS (7 PER FRAME @ 1/4-20 x 1" FLAT HEAD
18" [457mm] O.C.) (JKOOT1) / 8 3/4" SCREW (JK162) & WASHER
6" (JK163) & LOCK NUT
SPACER PLATE (J5A012) / ——  [223mm] [152mm]~ (JK164) (7 PER PLATE @
3/16" x 2 1/4" [M4.5x.75 x 56] MIN. BLOCKOUT 18" [457mm] O.C.)
FLAT HEAD CONCRETE
SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK002) 502-A01-150
MOVEMENT #
JOINT WIDTH
HORIZONTAL | VERTICAL
Us mm us mm Us mm
6" 152 3" 76 3" 76
FINISH: MILL
PROJECT: DATE: 2-13-12 [ )
APPLICATION-
CUSTOMER: POP-UP SYSTEM SCALE: 1:4 'npro
®

LOCATION:

FLOOR/FLOOR, FLOOR/WALL CONDITION

DOC: CADJM.133/R4

For More Information Visit: Inprocorp.com




CONT. ALUM. RECESSED
FRAME (J5A001)

HIGH STRENGTH EPOXY
GROUT PAN INFILL (BY
OTHERS)

CONT. ALUM. HINGE
FRAME (J5A021)

BACKER ROD &
SEALANT (BY OTHERS)

CONT. ALUM. FRAME
(J5A020)

N

/

_— OPTIONAL HEX HEAD
CONCRETE SCREW

57/16"
[139mm]

HIGH STRENGTH EPOXY 15 7/16"

GROUT INFILL (BY OTHERS) [392mm]
19/16"
‘ [40mm]
[50mm] S
f JUI\ Sy T
1/4" x 2 1/4" [M6x1 X 56] ~/
HEX HEAD CONCRETE
SCREWS (7 PER FRAME
@ 18" [457mm] O.C.)
(JK0O01) / 0 3/g"
SPACER PLATE (J5A012) / . [238mm] [20§Tmm]
3/16" x 2 1/4" [M4.5%.75 x 56] MIN. BLOCKOUT
FLAT HEAD CONCRETE
SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK002) 502-A01-200
MOVEMENT =z
JOINT WIDTH HORIZONTAL | VERTICAL
US mm US mm US mm
8" 203 4" 102 4" 51

FINISH: MILL

\ 1/4-20 x 1" FLAT HEAD

SCREW (JK162) & WASHER
(JK163) & LOCK NUT
(JK164) (7 PER PLATE @
18" [457mm] O.C.)

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-
POP-UP SYSTEM

FLOOR/FLOOR, FLOOR/WALL CONDITION

DATE:

2-13-12

SCALE:

- Inpro.

DOC: CADJM.133/R4

For More Information Visit: Inprocorp.com




